|

This question paper contains 8+1 printed pages]

Roll No.
S.No. of Question Paper : 538
Unique Paper Code . 241105 ; -G
Name of the Paper : CH-1.3—Micro Economics—I
Name of the Course : B.Com. ’(Hons.)
Semester 3 |

Duration : 3 Hours » , Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

(WW—W%W@WMW%&?&HWW 3T 3T fafaT 1)

Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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The paper is divided in three Sections.

Questions from each section should be attempted together.
All questiohs are compulsory. g
Marks are indicated against each question.:
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Section ‘A’ .
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(@)  With the help of calculus, explain how average revenue, marginal revenue and elasticity

of demand are related to each other ? If average revenue curve is a rectangular hyperbola

draw the correspondlng margmal revenue curve. : 5
(b) Differentiate between cross-elasticity and income elasticity of demand. 5

() A consumer purchases 500 units of a good X this year at a price Rs. 20 per unit. Last
year she purchased 600 units of the same good at a price of Rs. 8 per unit. What

is elasticity of demand for the good X ? ' 5
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(@) Whatis price-elaSticity of demarid supposed to measure ? State the peint elasticity and

arc elasticity formulas for measuring elasticity of demand. When should each of these

be used ? s : ’ 5
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Prove that in the case of two straight line demand curves, with the same point of

origin on the price axis, at any given price the elasticity is the same inspite of having

different slopes. ‘ ‘ 5

The coefficient of elasticity of suppliy of a commodity X is 2. What quantity of the
commodity will the seller supply at a price of Rs. 5 per unit, if he supplies 80 units

of it at Rs. 4 per unit ? 5

() TN F F A w W e Y 2w oW de W ww @ feu e

A iR o A G w1 e IR T A TR F T B w5
Sl R

(@) fog Ffm fF & it Y@ ot ot & B9 §, o oW FEa e

(T

- @

()

R A fag W %, & T wiHa W A9 G o @ 8 Sl fafye
TaE A %

T T X A H A B OPE 2 ¥ W e W
5% W 9FE BN W Tl HO A G% TE 80 I 4 5 U IhR
W q&R @ T 2

Use Revealed preference theory to show that the demand for a normal good will vary

inversely with the its price. 5

Segregate income and substitution effect of fall in the price of a commodity with the

help of indifference curve technique in the case of giffen good. 5
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(¢) Explain why water, which is essential for life, so cheap, while diamonds, which are not

S0 essential, so expensive ? : B : 5
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(a) Derive an Engel curve. How does the slope of an Engel curve help to identify whether

the good is normal, inferior and luxury ? 5

(b) Explain with the help of indifference curves, the effect of lump-sum subsidy Vs. excise

subsidy on the welfare of consumer. . i 5

(¢) Derive the demand curve from the price consumption curve. : 5
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Section ‘B’
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How does a producer choose an optimal input combination to maximize output subj ect‘

to a given cost ? . 5

Show increasing, constant, and decreasing returns to séale with the help of isoquant map.
Can a firm have a production function that exhibits initially increasing returns to scale

then constant returns and eventually diminishing returns to scale ? » 5

Suppose that the price of a commodity Y is Rs. 100 per unit and the price of
commodity X is Rs. 200 per unit. Suppose further that an individual’s money income

is Rs. 4,000 per time period and all income is spent on X and Y.
(1)  Draw the Budget Line for the consumer.
(ii) Find the slope of the Budget Line.

(iiiy Write the equation of the Budget Line. : 1242
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What is a linear homogeneous production function ? What determines the marginal product

of labour and capital in such a function and consequently what will the expansioh-path

(isocline) be like ? 5

What are ridge lines ? How can they be used to show the economic region of a

producer ? ' : : ch S

Samridhi spends her entire nionthly income of Rs. 3,000 on food and clothing. The price
of food is Rs. 150 and of clo{hing is Rs. 50. If she consumes 12 units of food and

24 units of clothing, her MRS is 1 : 1 (Cloth : Food).

(i) .- Is she in equilibrium at this point on her budget line ?

(@) Show the result in diagram. , ’ 2.542.5
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Write short hotes or distinguish between :

(i) Fixed cost vand Variable cost

(i) Explicit cost and Implicit cost

(i) Eéonomie‘s éf scale and Economies of scope. LE2H5 S

Would a firm earning zero economic profit continue to produce, even in the
long-run ? Discuss. ; : 7.5
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(a) Explain the shapes of short-run cost curves. Analyse the relationship between Average

Cost (AC), Average Variable Cost (AVC) and Marginal Cost (MC). 7.5

(b)‘ Explain and distinguish between short-run and long-run producer surplus under perfect
competition. - : ‘ | 7.5
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(@) Derive diagrammatically the long-run supply curve of a perfectly competitive industry in

case of decreasing costs and increasing costs. : 1.5
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(b) Distinguish between Walrasian and Marshallian stability of equilibrium. Show fha; an

equilibrium can be stable.in a Marshallian sense but not in a Walrasian sense. 75
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Or
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(a) A firm operating under perfect competition maximizes profit in the long-run by producing
where price equals long-run marginal cost. Explain with the help of diagram. o

(b) Derive short-run supply curve of a firm and of industry under perfect competition. 7.5
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